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QUESTION 1

In which cloud services are policy compliance typically defined in a hybrid cloud deployment?
A. Portal, catalog, and orchestration

B. Virtual networking, portal, and catalog

C. Orchestration, virtual networking, and portal

D. Catalog, orchestration, and virtual networking

Correct Answer: D

QUESTION 2

Which infrastructure does VCE Vblock represent?
A. Brownfield

B. Traditional

C. Hyper-converged

D. Converged

Correct Answer: D

QUESTION 3

An organization wants to enable consumers to deploy laaS and PaasS instances from a service catalog. These instances
will all be deployed on a specific hypervisor. The organization has informed you that they want to use a preferred server
vendor when building their new private cloud. What must be confirmed about the design?

A. Server hardware is compatible with PaaS solution

B. Server hardware is on the hypervisor vendor\\'s compatibility list

C. Server hardware is supported by the service catalog solution

D. laaS instances have the compatible drivers for the physical server hardware

Correct Answer: D

QUESTION 4
A cloud design contains multiple hosts that are running a hypervisor. Each host has only two physical 10 Gb network

adapters that are aggregated for bandwidth and failover. The physical switch ports for each host are configured as
access ports. Each host will support numerous virtual machines and network segments. These virtual machines will
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communicate with other virtual machines on the same network segments. Why would overlay networks be required for
this design?

A. Support for more than two virtual switches

B. Support for more than one virtual segment

C. Support for more than two virtual machines

D. Support for more than one distributed virtual switch

Correct Answer: B

QUESTION 5

An organization plans to deploy many cloud-native applications that will generate a considerable amount of east-west
traffic. The cloud-native applications will be deployed on hosts running hyppervisors. Why would distributed routers be
considered in this design?

A. Enable network segment

B. Improve network performance between hosts

C. Minimize Internet traffic

D. Protect against a physical router failure

Correct Answer: B
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